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OR (3121ar)

A line AB 50 mm long, has its end A in both
the H.P and the V.P. It is inclined at 30° to the
H.P and 45° to the V.P. Draw its Projections.

Udh 50 fAoiflo ddl X&@T AB &1 o fag A
Tdo Ulo d2AT dlotlo 9T ¥ 21 I8 Udo Ulo
A 30° TAT do do A 45° B HIT W BT 2 |
SAPT Y&AY 91V |

L

02011 01203/02103/P01203

2019(Even)
Sem - I/II(G)
BED

Time : 4Hrs.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

79-C & uft ufg gl @ SR <, UAS U BT 99 8 AF B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |

P.T.O
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OR (312rdr) (i)

Draw the Projection of a Pentagonal prism, base
25 mm side and axis 50 mm long resting on one
of its rectangular faces on the H.P with the axis

inclined at 45° to the V.P.

U FHYAYSl DI SR HI JoIl 25 Ao Ho

3R 31& 50 Moo B S TAodlo R T& (i)
ITATTPR B U TsST & dAT  SAdT 3N&

frodlo A 45° & HIVT R F&T B |

A Pentagonal Pyramid, base 30 mm side and axis

65 mm long, has its base horizontal and an edge (i)
111
of the base parallel to the V.P. A horizontal section

plane cuts it at a distance of 25 mm above the base.

Draw its front view and sectional top view.

U JaYSITdR fURIAE &1 MR &1 9ot
30° oo 3R 21eT 65 oo B T
TR S R ® 3R $9ST U qoll dlodlo
P IR 7 | P e <9 34 9T 9
25 fiotfio B $AE W dIcdl & | U AFA
$T F AR GFETd <4 & 1% |

(iv)

3 01203/02103/P01203

B.LS @ AR HaH d8 3MHIR &I
SIS e 8

(@1 B,
(@) A,
(W) B,
(€) A

Circles of small radii are drawn by-
(a) Lengthening bar

(b) Bow divider

(c) Bow compass

(d) None of these.

Bicl gd feas grRT ©i=r S« 2 |
(31) |~afAT IR

(@) «t feagsy

(d) 91 H¥Tg

(]) 379 4 BIs AN |

The full form of R.F is-
(a) Resulting fraction
(b) Representative figure
(c) Representative fraction
(d) None of these
P.T.O
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vi) Tgl-vgd H fHIRI @ G g@&r sidl
GROUP -C .

T—
(31) 2
Answer all Five Questions. 5x8=40 @) 2
el o ywl @ SR < | (%) 6
(%) 8
7.  Write the word 'TECHNICAL BOARD' in 12 mm (vii)  The ratio of True length to the Isometric
height in double stroke lettering system. 8 length is-
'TECHNICAL BOARD' 31 &1 12 fiiotflo (@) j_z/jf’
$Arg ¥ s9d gid ek fafer | fow | (b) V3/N2
(©) V312
OR (3reraT) (d) V52
A room is 4.8mx4.2mx3.6m high. Determine (vii) dredfa® Fvl"%l'l'sx 3 mﬁw (_*I"%l'ls‘
graphically the distance between a Top corner $T U BIAT 2 |
and bottom corner diagonally on it. (1) 23
4.8mx4.2mx3.6m &4l Udb HURT 2, Su B @) 312
IR fraa d11 & Aa@ ) fawel &) a8 (H)\/?i/2
e fafer | Tl | () V52

8. The projectors of the end of a line AB are 50 mm (viii)
apart. The end A is 20 mm above the H.P and 30 mm
infront of the V.P. The end B is 10 mm below the (b) Full-Size scale
H.P and 40 mm behind the V.P. Determine the true
length and Traces of AB and its inclinations with (c) Enlarge scale
the two planes. 8 (d) All of these—

For drawing of building, the scale used is-
(a) Reducing scale

P.T.O
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4.

A cone of diameter 40 mm and height 60 mm

rest on H. P on its base. Draw its Projections.

Udh T BT ATH 40 fHoHlo dom S4arg
60 fodflo ® wII T, dl. WX 3ATER W
MGl AT @ | 39&T Y&y & |

OR(372rd)

To construct an Ellipse when the distance
of focus from directrix is equal to 50 mm
and eccentricity is % :

TP el &1 IR B foTagdT Bied
srRfIgaT d 50 oo &Y g wr 2
amsﬁr—g"lﬁﬁ%%"'l

Develop the lateral surface of a Pentagonal

Pyramid of base side 40 mm and height 60 mm.

t$ A fRifis @ ured wasl &1
fasRia &R s ER @ 9&dS g1
40 fyotflo Tom J 418 60 oo T |

02011

(x)

(xi)

(xi)

(xii)

7 01203/02103/P01203

=1 § Sl—ar—dawa g aifve
LEGE R

(@n) sferea

(8) urRIEten

(|) BISUR qrell

(2) @) =R () <A

The line joining the apex to any point of
base circle of a cone is called-

(a) Axis of cone

(b) Generator of cone

(c) Diametre of cone

(d) None of these.

fodl o @ N & 90 & MR ®
fodft fi=g @ fram arell Y@ & $sd
x_

(31) wim 1 3y&T

@) @i &1 fod® ST

(W) @i &1 AT

(]) s9 ¥ &I TN |

The Elevation of an object shows
(a) Length and breadth

(b) Length and height

(c) Breadth and height

(d) Any of the above

P.T.O
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Answer all Five Questions.

il gfa g & S<x < |
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(xx) 3R &Iy fdg w0 dlo # 2 a1 dodlo

J 20 fhoo Ir A @ A sHBT
gferder g |

(3) XY wx

(@) 92M ure 4

(@) fa<hra g «

(?) Sudaa u+l|

GROUPB

Construct a scale of R.F = 1:50 to show metre
and centimetre and long enough to measure
up to 5 metre. Show a length of 3 metre 2 cm
on the scale.

U Thel 9-1d FIIdT 3MR0 THo 1:50 &1
foraur dex 3k 9. veT oIf 9@ aAgT

I8 SgTel A Sg1el 5 #lo 9@ 919 9@ | 59

Tbd TR 3 Hex 2 9. awrg ey |

5x4=20

02011

9 01203/02103/P01203

xiv) SR Sl HHdel a8 i §RT

(xv)

(xv)

(xvi)

P HUR B AN HI BIcHR 8l © dl
Hraer |rT B BEd |

(31) w¥cH

(@) eddes °IT

(|) e

(2) 3719 @ PIs 18 |

Sectional views are represented by-
(a) Hatching line

(b) Doted line

(c) Centre line

(d) All of these.

daTd o &1 fe@m 8-
(an) T Y@wr |

@) sics X@r |

(|) A= ¥E@T ¥

(?) Swfaa wf

Auxiliary vertical plane is inclined to
(a) V.P

(b) H.P

(c) Both H.P and V.P

(d) All of the above

P.T.O
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